— =
=5 dY/HIE oo x|
..&
frei

Fof x|

~

RAL 2004

=
ot
dr
=
Im

o g%

’;

RAL 6032 RAL 5017

RAL 1021 RAL 3020
gt 2|4

L
«

RAL 7035

© HEINRICH KIPP WERK GmbH & Co. KG

ks

HE ME: _

olEi A BEKE HEZ{o 2 oI5| &3 U7} Hate %
Slsh AR EILIC 23 H1E 180° B2 &3 To| #al 9xl= Sofet
H = 2 Z H

TR

=
=
A
T

=
2Ha /xIE HEE oA ElLct. 22 M4 &2 &2 HE7F o] |l x|
of Z&Elo] &2 Elo| Ml QRIZ Sof2 MEfE SX|SIEE FLic

THE!:
1.4308. &= Ht

1.4305. LIA} 22|12 2 &2 El
1.4310. &S5 A= 3
PA Q7tAM Z32 2

HEM O

XMoo 2 OtFE|E LA &2l 2 & F
2 =l odot & XtedX ot 2.
XMoo= Ot FE|E ¢S AZ 3.
ChFst Mzto| &2 ot Z:

- 22 3|A RAL 7021

=t M RAL 2004

2F A RAL 1021

W Z- A RAL 3020

= A4 RAL 6032

I} 2-A RAL 5017

|4 RAL 7035

M
o
=

rok ol | ok Tjo O
tor OIN M 0N

1=

|.|'

Ralitall kel

e rx

A

B3 HHE 180° S2/H &3 Elo| My 9IxI2 SotgLich.
ZotAaE He H3 ot S '

FLIALR E2.

AL

20E HE.

HMIA{E]:

2ol B& K0638.

EZX|IMH 24 K1290, K1839, K1840.
EHAE:

(=

EHel A 7 HH 7 918, B3 LE 98
ehel B: &3 b 7 918, &S LE 98
etel C: &3 B 7 918, B3 HE ¢l
etel D: &3 ot 7 918, &3 e US

www.kipp.com - info@kipp.com 1/8



°
A El C: ==
AE|QIZ|A AS! OIHIA ZEK]
=N
® © )
L1 : L1 ,
| @i : |
KD) = N &
i ! S i B | SW
| |
e | ( I ] = =3 | L | ]
L H i L |
x F:': ==
D.4% L
D1 D1
= T A .
AN -
(3] f = & i =
3| .\/===== i S| O —-—-> |
Z= Q0
AH[QIH A AR QlHIA ZRIX]
FEHS Et TAE AA D D1 D2 L L1 L3 B B1 H SW Fx30° A[E Bt
EbA =
F12 N F2¢2.N
K1673.1040410 A - 4 M10 10385 25 20 9 3 6 - 1 8 14
K1673.10404101 A 4 M10x1 10385 25 20 9 3 6 - 1 8 14
K1673.1040510 A - 5 M10 10385 25 20 9 3 6 - 1,3 8 14
K1673.10405101 A - 5 M10x1 10 385 25 20 9 3 6 - 1,3 8 14
K1673.1040610 A - 6 M10 10385 25 20 9 3 6 - 1,8 8 14
K1673.10406101 A - 6 M10x1 10385 25 20 9 3 6 - 1,8 8 14
K1673.1040512 A - 5 M12 12 474 30 25108 36 8 - 1,3 8 15
K1673.10405121 A - 5 M12x1,5 12 47,4 30 25 10,8 36 8 - 1,3 8 15
K1673.1040612 A - 6 M12 12 474 30 25108 36 8 - 1,8 8 15
K1673.10406121 A - 6 M12x1,5 12 474 30 25 10,8 3,6 8 - 1,8 8 15
K1673.1040812 A - 8 M12 12 474 30 25 10,8 36 8 - 2,3 8 15
K1673.10408121 A - 8 M12x1,5 12 47,4 30 25 10,8 3,6 8 - 2,3 8 15
K1673.1040616 A - 6 M16 16 612 40 32 144 48 10 - 1,8 15 35
K1673.10406161 A - 6 M16x1,5 16 61,2 40 32 14,4 48 10 - 1,8 15 35
K1673.1040816 A - 8 M16 16 612 40 32 144 48 10 - 2,3 15 35
K1673.10408161 A - 8 M16x1,5 16 612 40 32 144 48 10 - 2,3 15 35
K1673.1041016 A - 10 M16 16 61,2 40 32 144 48 10 - 2,8 15 35
K1673.10410161 A - 10 M16x1,5 16 61,2 40 32 144 48 10 - 2,8 15 35
K1673.1040820 A - 8 M20 20 71 50 35 18 6 12 - 2,3 20 60
K1673.10408201 A - 8 M20x15 20 71 50 35 18 6 12 - 2,3 20 60
K1673.1041020 A - 10 M20 20 71 50 35 18 6 12 - 2,8 20 60
K1673.10410201 A - 10 M20x1,5 20 71 50 35 18 6 12 - 2,8 20 60
K1673.1041220 A - 12 M20 20 71 50 35 18 6 12 - 3 20 60
K1673.10412201 A - 12 M20x1,5 20 71 50 35 18 6 12 - 3 20 60
K1673.1050410 B - 4 M10 10385 25 20 9 3 6 17 1 8 14
K1673.10504101 B - 4 M10x1 10385 25 20 9 3 6 17 1 8 14
K1673.1050510 B - 5 M0 10385 25 20 9 3 6 17 13 8 14
K1673.10505101 B - 5 M10x1 10385 25 20 9 3 6 17 1,3 8 14
K1673.1050610 B - 6 M10 10385 25 20 9 3 6 17 1.8 8 14
K1673.10506101 B - 6 M10x1 10385 25 20 9 3 6 17 18 8 14
K1673.1050512 B - 5 M12 12 474 30 25108 36 8 19 1,3 8 15
K1673.10505121 B - 5 M12x1,5 12 47,4 30 25 10,8 36 8 19 1,3 8 15
K1673.1050612 B - 6 M12 12 474 30 25108 36 8 19 1,8 8 15
K1673.10506121 B - 6 M12x1,5 12 47,4 30 25 10,8 36 8 19 1,8 8 15

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/8



°
ZH|Ql A A8 Q1A SR
E= %
FEHS Eted THE MY D DI D2 L L1 L3 B BT HSW Fx30° A% B
Bty S=E
F19% N F29. N
K1673.1050812 B - 8 M12 12474 30 2510836 8 19 23 8 15
K1673.10508121 B - 8 M12x15 12 474 30 25108 3,6 8 19 23 8 15
K1673.1050616 B - 6 M16 16 612 40 32 144 4810 24 18 15 35
K1673.10506161 B - 6 M16x1,5 16 61,2 40 32 144 4810 24 18 15 35
K1673.1050816 B - 8 M16 16 61,2 40 32 144 4810 24 23 15 35
K1673.10508161 B - 8 M16x1,5 16 61,2 40 32 144 4810 24 23 15 35
K1673.1051016 B - 10 M16 16 61,2 40 32 144 4810 24 28 15 35
K1673.10510161 B - 10 M16x1,5 16 61,2 40 32 144 4810 24 28 15 35
K1673.1050820 B - 8 M20 20 71 50 35 18 6 12 30 23 20 60
K1673.10508201 B - 8 M20x15 20 71 50 35 18 6 12 30 23 20 60
K1673.1051020 B - 10 M20 20 71 50 35 18 6 12 30 28 20 60
K1673.10510201 B - 10 M20x1,5 20 71 50 35 18 6 12 30 28 20 60
K1673.1051220 B - 12 M20 20 71 50 35 18 6 12 30 3 20 60
K1673.10512201 B - 12 M20x15 20 71 50 35 18 6 12 30 3 20 60
K1673.1060410 @ H3|M RAL 7021 4  M10 10 395 26,3 20 109 49 6 - 1 8 14
K1673.10604101 C H2|M RAL 7021 4 M10x1 10 39,5 26,3 20 109 49 6 - 1 8 14
K1673.1060510 C H3|M RAL 7021 5 M10 10 39,5 26,320 10949 6 - 13 8 14
K1673.10605101 @ H3|M RAL 7021 5 M10x1 10 395 26,320 109 49 6 - 13 8 14
K1673.1060610 @ H=|M RAL 7021 6 M10 10 39,5 2632010949 6 - 18 8 14
K1673.10606101 C H3|M RAL 7021 6 M10x1 10 395 26,320 109 49 6 - 18 8 14
K1673.1060512 @ H3|M RAL 7021 5 M12 12 484 31125129578 - 13 8 15
K1673.10605121 C H=|M RAL 7021 5 M12x15 12 484 3112512957 8 - 13 8 15
K1673.1060612 C H3|M RAL 7021 6 M12 12 484 31125129578 - 18 8 15
K1673.10606121 @ H3|M RAL 7021 6 M12x15 12 484 31,125 12957 8 - 18 8 15
K1673.1060812 @ H3|M RAL 7021 8 M12 12 484 3112512957 8 - 23 8 15
K1673.10608121 C H3|M RAL 7021 8 M12x15 12 484 31,125 12957 8 - 23 8 15
K1673.1060616 C H3|M RAL 7021 6 M16 16 623 41532166 7 10 - 18 15 35
K1673.10606161 C H2|M RAL 7021 6 M16x1,5 16 62,3 41532 166 7 10 - 18 15 35
K1673.1060816 C H3|M RAL 7021 8 M16 16 623 41532166 7 10 - 23 15 35
K1673.10608161 @ H3|M RAL 7021 8 M16x15 16 62,3 41532166 7 10 - 23 15 35
K1673.1061016 @ H2|M RAL 7021 10 M16 16 623 41532166 7 10 - 28 15 35
K1673.10610161 C H3|M RAL 7021 10 M16x1,5 16 62,3 41532 166 7 10 - 28 15 35
K1673.1060820 @ H3|M RAL 7021 8 M20 20723 513352058512 - 23 20 60
K1673.10608201 C H2|M RAL 7021 8 M20x1,5 20 72,3 51,3 35 205 8512 - 23 20 60
K1673.1061020 C H3|M RAL 7021 10 M20 20 72,3 51,3 35 205 8512 - 28 20 60
K1673.10610201 @ H3|M RAL 7021 10 M20x1,5 20 72,3 51,3 35 2056 8512 - 28 20 60
K1673.1061220 @ H2|M RAL 7021 12 M20 20 72,3 51,3 35 20,5 8,5 12 - 3 20 60
K1673.10612201 C H3|M RAL 7021 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 - 3 20 60
K1673.10604102 @ F0{ Q@X|RAL2004 4 M10 10 39,5 26,3 20 109 49 6 - 1 8 14
K1673.106041012 C Fo{ 2#X|RAL2004 4 M10x1 10 39,5 263 20 10,9 49 6 - 1 8 14
K1673.10605102 C fo{ 2@X|RAL2004 5 M10 10 395 26,320 109 49 6 - 13 8 14
K1673.106051012 @ F0{ Q@X|RAL2004 5 M10x1 10 39,5 26,3 20 109 49 6 - 13 8 14
K1673.10606102 C Fo{ 2#X|RAL2004 6 M10 10 395 263 20 10949 6 - 18 8 14
K1673.106061012 C f0{ Q@X|RAL2004 6 M10x1 10 39,5 26,3 20 109 49 6 - 18 8 14
K1673.10605122 @ F0{ Q@X|RAL2004 5 M12 12 484 3112512957 8 - 13 8 15
K1673.106051212 C F0{ Q@IX|RAL2004 5 M12x1,5 12 484 31,1 2512957 8 - 13 8 15
K1673.10606122 @ f0{ Q@X|RAL2004 6 M12 12 484 3112512957 8 - 18 8 15
K1673.106061212 @ F0{ Q@X|RAL2004 6 M12x1,5 12 484 31,1 2512957 8 - 18 8 15
K1673.10608122 C F0{ QRIX|RAL2004 8 M12 12 484 31,125129 57 8 - 23 8 15
K1673.106081212 @ f0{ Q@X|RAL2004 8 M12x1,5 12 484 31,1 2512957 8 - 23 8 15
K1673.10606162 @ Fo{ Q@X|RAL2004 6 M16 16 62,3 41532166 7 10 - 18 15 35
K1673.106061612 C F0{ Q@IX|RAL2004 6 M16x1,5 16 62,3 41532166 7 10 - 18 15 35
K1673.10608162 @ f0o{ Q@X|RAL2004 8 M16 16 623 41532166 7 10 - 23 15 35
K1673.106081612 C F0{ Q@X|RAL2004 8 M16x1,5 16 62,3 41532166 7 10 - 23 15 35
K1673.10610162 C F0{ Q@IX|RAL2004 10 M16 16 62,3 41532166 7 10 - 28 15 35
K1673.106101612 @ f0{ Q@X|RAL2004 10 M16x15 16 62,3 41,532 166 7 10 - 28 15 35
K1673.10608202 C Fo{ 2#X|RAL2004 8 M20 20 723 51,3 35 205 8512 - 23 20 60
K1673.106082012 C f0{ 2@ X|RAL2004 8 M20x1,5 20 72,3 51,3 352058512 - 23 20 60
K1673.10610202 @ f0{ Q@X|RAL2004 10 M20 20 72,3 51,3 352058512 - 28 20 60
K1673.106102012 @ F0{ Q@IX|RAL2004 10 M20x1,5 20 72,3 51,3 35 205 8512 - 28 20 60
K1673.10612202 C f0{ 2@X|RAL2004 12 M20 20 72,3 51,3 35 20,5 8,5 12 - 3 20 60

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/8



°
AH|QIZ|A AE! OlHA ERN
E= %
FEHS Eted THE MY D DI D2 L L1 L3 B BT HSW Fx30° A% B
EtN E
F12% N F22.N
K1673.106122012 C F0{ 2BX[RAL2004 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 3 20 60
K1673.106041016 C ge =2 RAL 1021 4 M10 10 39,5 26,3 20 10,9 49 6 1 8 14
K1673.1060410116 C g2 2k RAL 1021 4 M10x1 10 39,5 26,3 20 10,9 49 6 1 8 14
K1673.106051016 C gfe 2 RAL 1021 5 M10 10 39,5 26,3 20 10,9 4,9 6 1,3 8 14
K1673.1060510116 C gfe =2 RAL 1021 5 M10x1 10 39,5 26,3 20 10,9 49 6 1,3 8 14
K1673.106061016 C g2 2k RAL 1021 6 M10 10 39,5 26,3 20 10,9 4,9 6 1,8 8 14
K1673.1060610116 C gfe 2k RAL 1021 6 M10x1 10 39,5 26,3 20 10,9 4,9 6 1,8 8 14
K1673.106051216 c gte w2 RAL 1021 5 M12 12 484 31,1 25 129 57 8 1,3 8 15
K1673.1060512116 C g2 2k RAL 1021 5 M12x1,5 12 484 31,1 25 12,9 57 8 1,3 8 15
K1673.106061216 C g2 2 RAL 1021 6 M12 12 484 31,1 25 12,9 5,7 8 1,8 8 15
K1673.1060612116 C gte w2 RAL 1021 6 M12x1,5 12 484 31,1 25 129 57 8 1,8 8 15
K1673.106081216 C g2 2k RAL 1021 8 M12 12 484 31,1 25 12,9 57 8 2,3 8 15
K1673.1060812116 c gfe 2 RAL 1021 8 M12x1,5 12 484 31,1 25 129 57 8 2,3 8 15
K1673.106061616 C gte 2 RAL 1021 6 M16 16 62,3 41532 166 7 10 1,8 15 35
K1673.1060616116 C g2 2k RAL 1021 6 M16x1,5 16 62,3 41,5 32 166 7 10 1,8 15 35
K1673.106081616 C gfe =2 RAL 1021 8 M16 16 62,3 41532 166 7 10 2,3 15 35
K1673.1060816116 C ge =2k RAL 1021 8 M16x1,5 16 62,3 41532 166 7 10 2,3 15 35
K1673.106101616 C g2 2k RAL 1021 10 M16 16 62,3 415 32 166 7 10 2,8 15 35
K1673.1061016116 C gfe 2 RAL 1021 10 M16x1,5 16 62,3 41,5 32 16,6 7 10 2,8 15 35
K1673.106082016 C g2 2k RAL 1021 8 M20 20 72,3 51,3 35 20,5 8,5 12 2,3 20 60
K1673.1060820116 C g2 2k RAL 1021 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 2,3 20 60
K1673.106102016 C gfe 2 RAL 1021 10 M20 20 72,3 51,3 35 20,5 8,5 12 2,8 20 60
K1673.1061020116 C g2 2k RAL 1021 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 2,8 20 60
K1673.106122016 C g2 2k RAL 1021 12 M20 20 72,3 51,3 35 20,5 8,5 12 3 20 60
K1673.1061220116 c gfe 2 RAL 1021 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 3 20 60
K1673.106041084 C AMSSWZFRAL3020 4  M10 10 39,5 26,3 20 10,9 49 6 1 8 14
K1673.1060410184 c ASS WZFRAL3020 4 M10x1 10 39,5 26,3 20 10,9 49 6 1 8 14
K1673.106051084 c AMSEWZRAL3020 5 M10 10 39,5 26,3 20 109 49 6 1,3 8 14
K1673.1060510184 C AMSSWZFRAL3020 5 M10x1 10 39,5 26,3 20 10,9 49 6 1,3 8 14
K1673.106061084 C AMSSWZTRAL3020 6  M10 10 39,5 26,3 20 10,9 49 6 1,8 8 14
K1673.1060610184 C AMSSEWZRAL3020 6 M10x1 10 39,5 26,3 20 10,9 49 6 1,8 8 14
K1673.106051284 C ASSWZFRAL3020 5 M12 12 484 31,1 25 129 57 8 1,3 8 15
K1673.1060512184 c AMSSWZERAL3020 5 M12x1,5 12 484 31,1 25 129 57 8 1,3 8 15
K1673.106061284 C AMSSEWZRAL3020 6  M12 12 484 31,1 25 129 57 8 1,8 8 15
K1673.1060612184 C ASSWZFRAL3020 6 M12x1,5 12 484 31,1 25 129 57 8 1,8 8 15
K1673.106081284 C AMESSWZIRAL3020 8  M12 12 484 31,1 25 129 57 8 2,3 8 15
K1673.1060812184 C AMSS WZFRAL3020 8 M12x1,5 12 484 31,1 25 129 57 8 2,3 8 15
K1673.106061684 C AMSSWZFRAL3020 6 M16 16 62,3 41532 166 7 10 1,8 15 35
K1673.1060616184 C AMESS WZERAL3020 6 M16x1,5 16 62,3 41,5 32 166 7 10 1,8 15 35
K1673.106081684 C AMSEWZRAL3020 8 M16 16 62,3 41532 166 7 10 2,3 15 35
K1673.1060816184 C ASS wZFRAL3020 8 M16x1,5 16 62,3 41,5 32 166 7 10 2,3 15 35
K1673.106101684 C AMESSWZIRAL3020 10 M16 16 62,3 41532 166 7 10 2,8 15 35
K1673.1061016184 C ASS WZFRAL3020 10 M16x1,5 16 62,3 415 32 166 7 10 2,8 15 35
K1673.106082084 C AMSSWZFRAL3020 8  M20 20 72,3 51,3 35 20,5 8,5 12 2,3 20 60
K1673.1060820184 C ASS5 WZERAL3020 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 2,3 20 60
K1673.106102084 C AMSSWZFRAL3020 10 M20 20 72,3 51,3 35 20,5 8,5 12 2,8 20 60
K1673.1061020184 c A5 5 wzZERAL 3020 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 2,8 20 60
K1673.106122084 C AMSS WZERAL3020 12  M20 20 72,3 51,3 35 20,5 8,5 12 3 20 60
K1673.1061220184 C AS S Wz RAL3020 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 3 20 60
K1673.106041086 c Alad sMRAL6032 4  M10 10 39,5 26,3 20 10,9 49 6 1 8 14
K1673.1060410186 c A9 SMRAL6032 4  M10x1 10 39,5 26,3 20 10,9 49 6 1 8 14
K1673.106051086 C A9 =SMRAL6032 5 M10 10 39,5 26,3 20 10,9 49 6 1,3 8 14
K1673.1060510186 c Alad sMRAL6032 5 M10x1 10 39,5 26,3 20 10,9 49 6 1,3 8 14
K1673.106061086 c A9 SMRAL6032 6 M10 10 39,5 26,3 20 10,9 49 6 1,8 8 14
K1673.1060610186 C A4 SMRAL6032 6 M10x1 10 39,5 26,3 20 10,9 49 6 1,8 8 14
K1673.106051286 c A9 sMRAL6032 5 M12 12 484 31,1 25 129 57 8 1,3 8 15
K1673.1060512186 c A9 SMRAL6032 5 M12x1,5 12 484 31,1 25 129 57 8 1,3 8 15
K1673.106061286 c Al =4 RAL 6032 6 M12 12 484 31,1 25 12,9 57 8 1,8 8 15
K1673.1060612186 c A9 SMRAL6032 6 M12x1,5 12 484 31,1 25 129 57 8 1,8 8 15
K1673.106081286 c A9 SMRAL6032 8  M12 12 484 31,1 25 129 57 8 2,3 8 15
K1673.1060812186 c Al 54 RAL 6032 8 M12x1,5 12 484 31,1 25 129 57 8 2,3 8 15

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

4/8



°
AH|QIZ|A AE! OlHA ERN
E= %
FOHS EfQJ THE MA D D1 D2 L L1 L3 B B1 H SW Fx30° A[Z EbA
EtN E
F12% N F22.N
K1673.106061686 C AIdSMRAL6032 6 M16 16 623 41532 166 7 10 - 1,8 15 35
K1673.1060616186 C AlId SMRAL6032 6 M16x1,5 16 62,3 41532 166 7 10 - 1,8 15 35
K1673.106081686 C Alad sMRAL6032 8 M16 16 62,3 41532 166 7 10 - 2,3 15 35
K1673.1060816186 C A9 sS4 RAL6032 8 M16x1,5 16 62,3 41532 166 7 10 - 2,3 15 35
K1673.106101686 C Alod s RAL6032 10 M16 16 62,3 41,5 32 16,6 7 10 - 2,8 15 35
K1673.1061016186 C Alad s RAL6032 10 M16x1,5 16 62,3 41532 166 7 10 - 2,8 15 35
K1673.106082086 C A9 =SMRAL6032 8 M20 20 72,3 51,3 35 20,5 8,5 12 - 2,3 20 60
K1673.1060820186 c Alod s RAL6032 8 M20x1,5 20 72,3 51,3 35 20,5 85 12 - 2,3 20 60
K1673.106102086 C Alad sMRAL6032 10 M20 20 72,3 51,3 35 20,5 8,5 12 - 2,8 20 60
K1673.1061020186 C A9 SMRAL6032 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 - 2,8 20 60
K1673.106122086 C A9 SMRAL6032 12 M20 20 72,3 51,3 35 20,5 8,5 12 - 3 20 60
K1673.1061220186 C Alad s RAL6032 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 - 3 20 60
K1673.106041087 c AMES o2 RAL50177 4 M10 10 395 26,3 20 109 49 6 - 1 8 14
K1673.1060410187 c AMES I RAL5017 4 M10x1 10 39,5 26,3 20 10,9 49 6 - 1 8 14
K1673.106051087 c A5S o2 RAL50177 5  M10 10 39,5 26,3 20 109 49 6 - 1,3 8 14
K1673.1060510187 c AMES I RAL5017 5 M10x1 10 39,5 26,3 20 10,9 49 6 - 1,3 8 14
K1673.106061087 C A% S T3 RAL 5017 6 M10 10 39,5 26,3 20 10,9 49 6 - 1,8 8 14
K1673.1060610187 c M55 o2 RAL5017 6 M10x1 10 39,5 26,3 20 109 49 6 - 1,8 8 14
K1673.106051287 c AMESE OMZRAL5017 5  M12 12 484 31,1 25 129 57 8 - 1,3 8 15
K1673.1060512187 C AM5S o2 RAL5017 5 M12x1,5 12 484 31,1 25 129 57 8 - 1,3 8 15
K1673.106061287 c A5S o2 RAL50177 6 M12 12 484 31,1 25 129 57 8 - 1,8 8 15
K1673.1060612187 c AMES o2 RAL5017 6 M12x1,5 12 484 31,1 25 129 57 8 - 1,8 8 15
K1673.106081287 C A5S o2 RAL50177 8  M12 12 484 31,1 25 129 57 8 - 2,3 8 15
K1673.1060812187 c M55 o2 RAL5017 8 M12x1,5 12 484 31,1 25 129 57 8 - 2,3 8 15
K1673.106061687 c MES I RAL5017 6 M16 16 62,3 41,5 32 16,6 7 10 - 1,8 15 35
K1673.1060616187 c A5S o2 RAL5017 6 M16x1,5 16 62,3 41532 166 7 10 - 1,8 15 35
K1673.106081687 c AM5S o2 RAL50177 8  M16 16 62,3 41532 166 7 10 - 2,3 15 35
K1673.1060816187 c AMESS o2 RAL5017 8 M16x1,5 16 62,3 41532 166 7 10 - 2,3 15 35
K1673.106101687 c A5S o2 RAL5017 10 M16 16 62,3 41532 166 7 10 - 2,8 15 35
K1673.1061016187 c 55 o2 RAL5017 10 M16x1,5 16 62,3 415 32 166 7 10 - 2,8 15 35
K1673.106082087 C AMES I RAL5017 8 M20 20 72,3 51,3 35 20,5 85 12 - 2,3 20 60
K1673.1060820187 c A55 o2 RAL5017 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 - 2,3 20 60
K1673.106102087 c M55 o2 RAL5017 10 M20 20 72,3 51,3 35 20,5 8,5 12 - 2,8 20 60
K1673.1061020187 c AES o RAL5017 10 M20x1,5 20 72,3 51,3 35 20,5 85 12 - 2,8 20 60
K1673.106122087 c A5S o2 RAL5017 12 M20 20 72,3 51,3 35 20,5 8,5 12 - 3 20 60
K1673.1061220187 C A5 5 o2 RAL5017 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 - 3 20 60
K1673.106041088 c o4t 3|AM RAL 7035 4 M10 10 39,5 26,3 20 109 49 6 - 1 8 14
K1673.1060410188 c 45t 3|A RAL 7035 4 M10x1 10 39,5 26,3 20 109 49 6 - 1 8 14
K1673.106051088 C Q45 3|A RAL 7035 5 M10 10 39,5 26,3 20 109 49 6 - 1,3 8 14
K1673.1060510188 c o4t 3|A RAL 7035 5 M10x1 10 39,5 26,3 20 109 49 6 - 1,3 8 14
K1673.106061088 c 45t 3|AM RAL 7035 6 M10 10 39,5 26,3 20 109 49 6 - 1,8 8 14
K1673.1060610188 C Q43 3|A RAL 7035 6 M10x1 10 39,5 26,3 20 109 49 6 - 1,8 8 14
K1673.106051288 c 43t 3|4 RAL 7035 5 M12 12 484 31,1 25 129 57 8 - 1,3 8 15
K1673.1060512188 c 45t 3|AM RAL 7035 5 M12x1,5 12 484 31,1 25 129 57 8 - 1,3 8 15
K1673.106061288 C Q48 3|A RAL 7035 6 M12 12 484 31,1 25129 57 8 - 1,8 8 15
K1673.1060612188 c 48t 3|A RAL 7035 6 M12x1,5 12 484 31,1 25 129 57 8 - 1,8 8 15
K1673.106081288 c 45t 3|A RAL 7035 8 M12 12 484 31,1 2512957 8 - 2,3 8 15
K1673.1060812188 C Q48 3|AM RAL 7035 8 M12x1,5 12 484 31,1 25 129 57 8 - 2,3 8 15
K1673.106061688 c 45t 3|AM RAL 7035 6 M16 16 62,3 41532 166 7 10 - 1,8 15 35
K1673.1060616188 c 45t 3|AM RAL 7035 6 M16x1,5 16 62,3 41532 166 7 10 - 1,8 15 35
K1673.106081688 C Q48 3|AM RAL 7035 8 M16 16 62,3 41532166 7 10 - 2,3 15 35
K1673.1060816188 c o4t 3|A RAL 7035 8 M16x1,5 16 62,3 41532 166 7 10 - 2,3 15 35
K1673.106101688 c @45t 3|AM RAL 7035 10 M16 16 62,3 41,532 166 7 10 - 2,8 15 35
K1673.1061016188 c Q48h 3| M RAL 7035 10 M16x1,5 16 62,3 41,5 32 166 7 10 - 2,8 15 35
K1673.106082088 c o4t 3|A RAL 7035 8 M20 20 72,3 51,3 35 20,5 85 12 - 2,3 20 60
K1673.1060820188 c Q43 3|A RAL 7035 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 - 2,3 20 60
K1673.106102088 c Q48h 3| M RAL 7035 10 M20 20 72,3 51,3 35 20,5 8,5 12 - 2,8 20 60
K1673.1061020188 c o4t 3|A RAL 7035 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 - 2,8 20 60
K1673.106122088 c Q43 3|AM RAL 7035 12 M20 20 72,3 51,3 35 20,5 85 12 - 3 20 60
K1673.1061220188 c Q48 3|AM RAL 7035 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 - 3 20 60
K1673.1070410 D &M RAL 7021 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

5/8



()
AH|QIZ|A AE! OlHA ERN
Z= 0

FEHS Et THE MA D D1 D2 L L1 L3 B B1 H SW Fx30° A[Z EbA
ErSd =2

F1 2N F2 <N
K1673.10704101 D 43N RAL 7021 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.1070510 D 3| M RAL 7021 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.10705101 D 43|M RAL 7021 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.1070610 D 43|M RAL 7021 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.10706101 D 43| M RAL 7021 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.1070512 D 43|M RAL 7021 5 M12 12 48,4 31,1 25 129 57 8 19 1,3 8 15
K1673.10705121 D 43|M RAL 7021 5 M12x1,5 12 48,4 31,1 25 129 57 8 19 1,3 8 15
K1673.1070612 D 3| M RAL 7021 6 M12 12 48,4 31,1 25 12,9 57 8 19 1,8 8 15
K1673.10706121 D 4d3|M RAL 7021 6 M12x1,5 12 48,4 31,1 25 129 5,7 8 19 1,8 8 15
K1673.1070812 D 43|M RAL 7021 8 M12 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1673.10708121 D 3| M RAL 7021 8 M12x1,5 12 484 31,1 25 12,9 57 8 19 2,3 8 15
K1673.1070616 D 4d3|M RAL 7021 6 M16 16 62,3 41,5 32 166 7 10 24 1,8 15 35
K1673.10706161 D 3| M RAL 7021 6 M16x1,5 16 62,3 415 32 166 7 10 24 1,8 15 35
K1673.1070816 D 3| M RAL 7021 8 M16 16 62,3 41,5 32 166 7 10 24 2,3 15 35
K1673.10708161 D 43|M RAL 7021 8 M16x1,5 16 62,3 415 32 166 7 10 24 2,3 15 35
K1673.1071016 D 3| M RAL 7021 10 M16 16 62,3 41,5 32 16,6 7 10 24 2,8 15 35
K1673.10710161 D 3| M RAL 7021 10 M16x1,5 16 62,3 41,5 32 16,6 7 10 24 2,8 15 35
K1673.1070820 D 43|M RAL 7021 8 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1673.10708201 D 3| M RAL 7021 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1673.1071020 D 43| RAL 7021 10 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1673.10710201 D 4d3|M RAL 7021 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1673.1071220 D 3| M RAL 7021 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.10712201 D 43| RAL 7021 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.10704102 D 04 2FIX| RAL 2004 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.107041012 D F0{ 2EIX| RAL 2004 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.10705102 D F0{ BIX| RAL 2004 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.107051012 D 04 2FIX| RAL 2004 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.10706102 D F0{ 2EIX| RAL 2004 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.107061012 D Fo{ EIX| RAL 2004 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.10705122 D 04 2FIX| RAL 2004 5 M12 12 48,4 31,1 25 129 57 8 19 1,3 8 15
K1673.107051212 D Fo0{ 23IX| RAL 2004 5 M12x1,5 12 484 31,1 25 129 5,7 8 19 1,3 8 15
K1673.10706122 D Fo{ BIX| RAL 2004 6 M12 12 48,4 31,1 25 129 57 8 19 1,8 8 15
K1673.107061212 D 04 2FIX| RAL 2004 6 M12x1,5 12 48,4 31,1 25 129 57 8 19 1,8 8 15
K1673.10708122 D Fo{ 23IX| RAL 2004 8 M12 12 48,4 31,1 25 129 5,7 8 19 2,3 8 15
K1673.107081212 D F0{ 2BIX| RAL 2004 8 M12x1,5 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1673.10706162 D 04 2FIX| RAL 2004 6 M16 16 62,3 415 32 166 7 10 24 1,8 15 35
K1673.107061612 D Fo0{ 2BX| RAL 2004 6 M16x1,5 16 62,3 41,5 32 166 7 10 24 1,8 15 35
K1673.10708162 D F0{ 2BIX| RAL 2004 8 M16 16 62,3 41,5 32 166 7 10 24 2,3 15 35
K1673.107081612 D F04 2FIX| RAL 2004 8 M16x1,5 16 62,3 415 32 166 7 10 24 2,3 15 35
K1673.10710162 D Fo{ 2EIX| RAL 2004 10 M16 16 62,3 41,5 32 166 7 10 24 2,8 15 35
K1673.107101612 D F0{ 2BIX| RAL 2004 10 M16x1,5 16 62,3 415 32 166 7 10 24 2,8 15 35
K1673.10708202 D F#04 2FIX| RAL 2004 8 M20 20 72,3 51,3 35 20,5 8,512 30 2,3 20 60
K1673.107082012 D Fo0{ 2EIX| RAL 2004 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1673.10710202 D 04 2FIX| RAL 2004 10 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1673.107102012 D F04 2FIX| RAL 2004 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1673.10712202 D Fo0{ 2BIX| RAL 2004 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.107122012 D 04 2FIX| RAL 2004 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.107041016 D g2 2 RAL 1021 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.1070410116 D gre 2 RAL 1021 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.107051016 D g2 & RAL 1021 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.1070510116 D g2 =& RAL 1021 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.107061016 D gre =2 RAL 1021 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.1070610116 D g2 & RAL 1021 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.107051216 D g2 =& RAL 1021 5 M12 12 48,4 31,1 25 129 57 8 19 1,3 8 15
K1673.1070512116 D g2 =3 RAL 1021 5 M12x1,5 12 48,4 31,1 25 12,9 5,7 8 19 1,3 8 15
K1673.107061216 D g2 & RAL 1021 6 M12 12 48,4 31,1 25 129 57 8 19 1,8 8 15
K1673.1070612116 D g2 =3 RAL 1021 6 M12x1,5 12 484 31,1 25 129 5,7 8 19 1,8 8 15
K1673.107081216 D g2 =3 RAL 1021 8 M12 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1673.1070812116 D g2 & RAL 1021 8 M12x1,5 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1673.107061616 D g2 =3 RAL 1021 6 M16 16 62,3 41,5 32 16,6 7 10 24 1,8 15 35
K1673.1070616116 D gr2 =3 RAL 1021 6 M16x1,5 16 62,3 41,5 32 166 7 10 24 1,8 15 35

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 6/8



© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

°
AH|QIZ|A AE! OlHA ERN
EZS 29
FEHS EfQJ THE MA D D1 D2 L L1 L3 B B1 H SW Fx30° A[Z EbA
ErSd 2
F12£. N F22 N
K1673.107081616 D g2 -2 RAL 1021 8 M16 16 62,3 415 32 166 7 10 24 23 15 35
K1673.1070816116 D g2 2 RAL 1021 8 M16x1,5 16 62,3 41532 166 7 10 24 2,3 15 35
K1673.107101616 D g2 -2 RAL 1021 10 M16 16 62,3 41532166 7 10 24 28 15 35
K1673.1071016116 D g2 2 RAL 1021 10 M16x1,5 16 62,3 41,5 32 166 7 10 24 28 15 35
K1673.107082016 D g2 2 RAL 1021 8 M20 20 72,3 51,3 35 20,5 8512 30 23 20 60
K1673.1070820116 D g2 -2 RAL 1021 8 M20x1,5 20 72,3 51,3 35 20,5 8,512 30 2,3 20 60
K1673.107102016 D g2 2 RAL 1021 10 M20 20 72,3 51,3 35 20,5 8512 30 2,8 20 60
K1673.1071020116 D g2 2 RAL 1021 10 M20x1,5 20 72,3 51,3 35 20,5 8512 30 2,8 20 60
K1673.107122016 D g2 -2 RAL 1021 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.1071220116 D g2 2 RAL 1021 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.107041084 D AESS Wz RAL 3020 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.1070410184 D MESWZRAL3020 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.107051084 D 4= S Wz RAL 3020 5 M10 10 39,5 26,3 20 10,9 49 6 17 13 8 14
K1673.1070510184 D {E S Wz RAL 3020 5 M10x1 10 39,5 26,3 20 109 49 6 17 1,3 8 14
K1673.107061084 D AE S Wz RAL 3020 6 M10 10 39,5 26,3 20 109 49 6 17 18 8 14
K1673.1070610184 D A3 5 Wz RAL 3020 6 M10x1 10 39,5 26,3 20 109 49 6 17 1,8 8 14
K1673.107051284 D A5 5 Wz RAL 3020 5 M12 12 48,4 31,1 25 129 57 8 19 1,3 8 15
K1673.1070512184 D AE S Wz RAL 3020 5 M12x1,5 12 484 3112512957 8 19 13 8 15
K1673.107061284 D A3 5 Wz RAL 3020 6 M12 12 484 3112512957 8 19 18 8 15
K1673.1070612184 D AE S Wz RAL 3020 6 M12x1,5 12 484 3112512957 8 19 18 8 15
K1673.107081284 D AE S Wz RAL 3020 8 M12 12 48,4 31,1 25129 57 8 19 23 8 15
K1673.1070812184 D A3 5 Wz RAL 3020 8 M12x1,5 12 484 31,1 25 129 5,7 19 23 8 15
K1673.107061684 D AE S Wz RAL 3020 6 M16 16 62,3 41,5 32 16,6 7 24 18 15 35
K1673.1070616184 D AlE S Wz RAL 3020 6 M16x1,5 16 62,3 41,5 32 166 7 24 18 15 35
K1673.107081684 D A3 5 Wz RAL 3020 8 M16 16 62,3 415 32 166 7 24 23 15 35
K1673.1070816184 D AE S Wz RAL 3020 8 M16x1,5 16 62,3 41,5 32 166 7 24 23 15 35
K1673.107101684 D MESWZRAL3020 10 M16 16 62,3 41,5 32 16,6 7 24 28 15 35
K1673.1071016184 D AES WZERAL3020 10 M16x1,5 16 62,3 41,5 32 16,6 7 24 28 15 35
K1673.107082084 D AE S Wz RAL 3020 8 M20 20 72,3 51,3 35 20,5 8,5 30 23 20 60
K1673.1070820184 D AlE S Wz RAL 3020 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 30 23 20 60
K1673.107102084 D AMESWZFRAL30200 10 M20 20 72,3 51,3 35 20,5 8,5 30 28 20 60
K1673.1071020184 D AES wZRAL3020 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 30 28 20 60
K1673.107122084 D AMESWZRAL3020 12 M20 20 72,3 51,3 35 20,5 8,5 30 3 20 60
K1673.1071220184 D AES Wz RAL 3020 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 30 3 20 60
K1673.107041086 D Alad sS4 RAL6032 4 M10 10 39,5 26,3 20 10,9 4,9 17 1 8 14
K1673.1070410186 D A9 SMRAL6032 4  M10x1 10 39,5 26,3 20 10,9 4,9 17 1 8 14
K1673.107051086 D Alad =4 RAL 6032 5 M10 10 39,5 26,3 20 10,9 4,9 17 13 8 14
K1673.1070510186 D Alad =4 RAL 6032 5 M10x1 10 39,5 26,3 20 10,9 4,9 17 13 8 14
K1673.107061086 D Al =544 RAL 6032 6 M10 10 39,5 26,3 20 10,9 4,9 17 18 8 14
K1673.1070610186 D Alad =4 RAL 6032 6 M10x1 10 39,5 26,3 20 10,9 4,9 17 18 8 14
K1673.107051286 D A2 =54 RAL 6032 5 M12 12 48,4 31,1 25 12,9 57 19 13 8 15
K1673.1070512186 D Al =544 RAL 6032 5 M12x1,5 12 484 31,1 25 129 57 19 13 8 15
K1673.107061286 D Al =M RAL 6032 6 M12 12 48,4 31,1 25 12,9 5,7 19 1,8 8 15
K1673.1070612186 D Alad =54 RAL 6032 6 M12x1,5 12 484 31,1 25 129 5,7 19 18 8 15
K1673.107081286 D Alad =44 RAL 6032 8 M12 12 484 31,1 25 12,9 57 19 23 8 15
K1673.1070812186 D Al 54 RAL 6032 8 M12x1,5 12 484 31,1 25 129 5,7 19 23 8 15
K1673.107061686 D Alad =44 RAL 6032 6 M16 16 62,3 41,5 32 16,6 7 24 18 15 35
K1673.1070616186 D Al =544 RAL 6032 6 M16x1,5 16 62,3 415 32 166 7 24 18 15 35
K1673.107081686 D Al =M RAL 6032 8 M16 16 62,3 41,5 32 16,6 7 24 23 15 35
K1673.1070816186 D Alad =54 RAL 6032 8 M16x1,5 16 62,3 41,5 32 166 7 24 23 15 35
K1673.107101686 D Alod s RAL6032 10 M16 16 62,3 41,5 32 16,6 7 24 28 15 35
K1673.1071016186 D Al1d s RAL6032 10 M16x1,5 16 62,3 41,5 32 16,6 7 24 28 15 35
K1673.107082086 D Alad =544 RAL 6032 8 M20 20 72,3 51,3 35 20,5 8,5 30 23 20 60
K1673.1070820186 ) Al 544 RAL 6032 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 30 23 20 60
K1673.107102086 D Al sMRAL6032 10 M20 20 72,3 51,3 35 20,5 8,5 30 28 20 60
K1673.1071020186 D Alad s RAL6032 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 30 28 20 60
K1673.107122086 D Alad s RAL6032 12 M20 20 72,3 51,3 35 20,5 8,5 30 3 20 60
K1673.1071220186 ] Alad s RAL6032 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 30 3 20 60
K1673.107041087 D AMES I RAL5017 4 M10 10 39,5 26,3 20 10,9 4,9 17 1 8 14
K1673.1070410187 D AMES I RAL5017 4 M10x1 10 39,5 26,3 20 10,9 4,9 17 1 8 14
K1673.107051087 D AE S o RAL 5017 5 M10 10 39,5 26,3 20 109 49 6 17 13 8 14

info@kipp.com  7/8



()
AH|QIYA AE!OlHA ZEX
Z= 0
FEHS Eted THE MY D DI D2 L L1 L3 B BT HSW Fx30° A% B
ErSd =

F1 2N F22.N
K1673.1070510187 D AE S utg RAL 5017 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.107061087 D AE S o RAL 5017 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.1070610187 D AME S o3 RAL 5017 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.107051287 D AMS S o3 RAL 5017 5 M12 12 48,4 31,1 25 129 57 8 19 1,3 8 15
K1673.1070512187 D A5 5 mE RAL 5017 5 M12x1,5 12 484 31,1 25 129 5,7 8 19 1,3 8 15
K1673.107061287 D AME S o3 RAL 5017 6 M12 12 48,4 31,1 25 129 57 8 19 1,8 8 15
K1673.1070612187 D AME S o3 RAL 5017 6 M12x1,5 12 48,4 31,1 25 129 57 8 19 1,8 8 15
K1673.107081287 D AE S o RAL 5017 8 M12 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1673.1070812187 D AE S o3 RAL 5017 8 M12x1,5 12 48,4 31,1 25 129 5,7 8 19 2,3 8 15
K1673.107061687 D AE S o RAL 5017 6 M16 16 62,3 415 32 166 7 10 24 1,8 15 35
K1673.1070616187 D AE S o RAL 5017 6 M16x1,5 16 62,3 41,5 32 166 7 10 24 1,8 15 35
K1673.107081687 D AME S o3 RAL 5017 8 M16 16 62,3 41,5 32 166 7 10 24 2,3 15 35
K1673.1070816187 D AE S ua RAL 5017 8 M16x1,5 16 62,3 41,5 32 16,6 7 10 24 2,3 15 35
K1673.107101687 D AE S oE RAL 5017 10 M16 16 62,3 41,5 32 166 7 10 24 2,8 15 35
K1673.1071016187 D AE S o3 RAL 5017 10 M16x1,5 16 62,3 415 32 16,6 7 10 24 2,8 15 35
K1673.107082087 D A3 S o RAL 5017 8 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1673.1070820187 D A% S T3 RAL 5017 8 M20x1,5 20 72,3 51,3 35 20,5 8512 30 23 20 60
K1673.107102087 D AE S o3 RAL 5017 10 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1673.1071020187 D A3 8 o RAL 5017 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1673.107122087 D AE S ma RAL 5017 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.1071220187 D AME S o3 RAL 5017 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.107041088 D 948t 3|A4 RAL 7035 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.1070410188 D Q15t 3| RAL 7035 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.107051088 D 45t 3|A4 RAL 7035 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.1070510188 D 018t 3| RAL 7035 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.107061088 D o345t 2| RAL 7035 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.1070610188 D 45t 3|A4 RAL 7035 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.107051288 D 948t 3|A4 RAL 7035 5 M12 12 48,4 31,1 25 12,9 57 8 19 1,3 8 15
K1673.1070512188 D Q45t 2| RAL 7035 5 M12x1,5 12 48,4 31,1 25 129 57 8 19 1,3 8 15
K1673.107061288 D 45t 3|AH RAL 7035 6 M12 12 48,4 31,1 25 129 57 8 19 1,8 8 15
K1673.1070612188 D 948t 3|A4 RAL 7035 6 M12x1,5 12 48,4 31,1 25 12,9 57 8 19 1,8 8 15
K1673.107081288 D Q1st 2| RAL 7035 8 M12 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1673.1070812188 D 48t 3|AH RAL 7035 8 M12x1,5 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1673.107061688 D 1%t 3| RAL 7035 6 M16 16 62,3 41,5 32 16,6 7 10 24 1,8 15 35
K1673.1070616188 D Q15t 2| RAL 7035 6 M16x1,5 16 62,3 415 32 166 7 10 24 1,8 15 35
K1673.107081688 D 048t 3|AH RAL 7035 8 M16 16 62,3 415 32 166 7 10 24 2,3 15 35
K1673.1070816188 D Q1%t 3| RAL 7035 8 M16x1,5 16 62,3 41,5 32 16,6 7 10 24 2,3 15 35
K1673.107101688 D Q1st 2| RAL 7035 10 M16 16 62,3 41,5 32 166 7 10 24 2,8 15 35
K1673.1071016188 D 48t 3|A4 RAL 7035 10 M16x1,5 16 62,3 415 32 16,6 7 10 24 2,8 15 35
K1673.107082088 D 1%t 3| RAL 7035 8 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1673.1070820188 D 45t 3|AH RAL 7035 8 M20x1,5 20 72,3 51,3 35 20,5 8,512 30 2,3 20 60
K1673.107102088 D 48t 3|A4 RAL 7035 10 M20 20 72,3 51,3 35 20,5 8,512 30 2,8 20 60
K1673.1071020188 D 018t 3| RAL 7035 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1673.107122088 D 45t 3|4 RAL 7035 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.1071220188 D 48t 3|A4 RAL 7035 12 M20x1,5 20 72,3 51,3 35 20,5 8,512 30 3 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 8/8



